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Amazon Bedrock integration

Amazon GuardDuty RDS Protection

Amazon DevOps Guru Proactive Insights
On-demand Database performance analyzing

1/0 Optimized storage

Advanced JDBC Wrapper Driver for Amazon Aurora

Amazon Aurora MySQL database restart time
optimizations
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(Limited Preview)
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... problems

Querying? Consistency? Maintenance?
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customer

SET rds_aurora.limitless_create_table_mode="sharded';

SET rds_aurora.limitless_create_table_shard_key="{"cust_id"}"';

CREATE TABLE customer (
cust_id INT PRIMARY KEY NOT NULL,
name TEXT,
email VARCHAR(100)

) ;



order

SET rds_aurora.limitless_create_table_mode="sharded';
SET rds_aurora.limitless_create_table_shard_key="{"cust_id"}"';

SET rds_aurora.limitless_create_table_collocate_with="customer';

CREATE TABLE order (

order_id INT NOT NULL,
cust_id INT NOT NULL,
amount DOUBLE NOT NULL,

tax_rate_id DOUBLE,
PRIMARY KEY (order_id, cust_1id)

)5



tax_rate

SET rds_aurora.limitless_create_table_mode='reference';

CREATE TABLE tax_rate (
tax_rate_id INT PRIMARY KEY NOT NULL,

city TEXT NOT NULL,
state TEXT,

country TEXT NOT NULL,
tax_rate DOUBLE NOT NULL
) ;

SET rds_aurora.limitless_create_table_mode='standard';



set rds_aurora.limitless_create_table_mode='sharded';
set rds_aurora.limitless_create_table_shard_key='{bid}’;

create table pgbench_branches(
bid int not null,
bbalance 1int,
filler char(88));

pgbench_branches
public.pgbench_branches

HASH (bid)
pgbench_branches_fs00001 MINVALUE -4611686018427387904
pgbench_branches_fs00002 -4611686018427387904 0
pgbench_branches_fs00003 0 4611686018427387904

pgbench_branches_fs00004 4611686018427387904 MAXVALUE
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Limitless Database shard
group
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Router

Shard
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create-db-shard-group

--max-acu 1536
--compute-redundancy 2
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Design goal:






EC2 TimeSync service (ps) Integrated into PostgreSQL



Latest possible time
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1)
2)

3)
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router gets time t100
executes sum() on each shard
using snapshot@t100
aggregates the result

1)
2)

3)

router gets time t116
executes sum() on each shard
using snapshot@t116
aggregates the result

1) router gets time t103
2) execute on shard w/bid
619 using snapshot@t103

/

abalance - 500

OO0

1) router gets time t107
2) execute on shard w/bid

801 using snapshot@t107

/ 519

abalance =

01

abalance +

1) router determines 2PC, asks shards
to prepare
2) shard w/619 prepares@t118
shard w/801 prepares@t112
3) router assigns commit@t120
) acks commit when
a) writes durable on disk
b) earliest possible time > t120
I5)( router tells shards to
commit@t120




704

619

80

1) router gets time t100
2) execute on shard w/bid

619 using snapshot@t100

/

1) execute on shard w/bid
801 using snapshot@#700

/
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N1

1) router gets time t103
2) execute on shard w/bid

801 using snapshot@t103

7

1001 /

1) router uses 1PC on shard
1 2) shard assigns commit@t110
3) acks commit when
a) writes durable on disk
b) earliest possible time >t110

801

1001 \

1) router gets time t125
2) execute on shard w/bid

801 using snapshot@t125







(Limited Preview)
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(Limited Preview)

= Sharded tables

= Reference tables

- Distributed query / Distributed transactions
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